3 (Sem-3) STS

2018

STATISTICS
( General ) .

Full Marks : 40
Time: 2 hours
The figures in the margin indicate Jull marks
Jor the questions
‘Answer either in English or in Assamese

1. Answer the following as directed : 1x4=4
TS AT Aot Teg 7
(a) Define ‘level of significance’,

el BT Age |
(b) In a life table, e} =

( Fill up the gap )
T ORteR el = _ .

( AR 51 o@T 41 )
{c) Explain ‘confidence interval’.

“ReurTcRIsy s v

(d) Correlation coefficient Txy =Tyx-
( Write True or False )
TR G Iy =7,
(79 & e o )
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3.

(2)

Answer the following questions : . 2x3=6

T IR T 3|7

fa) Distinguish between standard deviation
and standard error.

mﬁaﬁmwwmmm@sﬁm

(b} Explain ‘ital statistics and vital events’.
‘TR AR S TR KBAIT M 3] 1

(c) Define ‘regression lines’.
SRR @I K fra

Answer any fwo questions from the
following : 5x2=10

wﬁ@mi&lm@wwi

(a) Prove that correlation coefficient is
independent of change of origin and
scale.

2T T @ TTT QT TG A 19
ERE G e[S ST 72 |

Or / %1

(b) What is large sample? Explain tests of
significance for large samples.

R AR B2 = AR I ez
S PIICOT AN 1|
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(c)

(@)

(3)

’

Explain standardized death rate and
methods of calculating it.

AT PR R IR 9 AT W Semr
R RSN TP F47 |

Or / T

Define multiple correlation coefficient
and state its uses.

R|IADTTE QMF T o wWF T[R
IR ferdt 1

4. Answer any two questions from the

following : 10x2=20
T R I o o Ted 10
(a) (i} Explain correlation coefficient and

(b)

A9/58

regression coefficient. State the

differences between them. 3+3=6
DTS BIRF HE AT BIRFT [N
T W% PR TR YRR v |

(i) Explain association of attributes
and coefficient of association

‘between two attributes. 4
81 A THFA T AF Pl B8R e
AT BIRE I I

() Define t-statistic. State its uses in
Statistics. 2+5=7
t-ofdrfes e famn ofRoran Reme
TR IRYIR e 3]0 |
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(4)

(@) State different fertility rates. 3
Rfew @R ToR /@R Ty 7 1

(c) () Find the angle between two lines of
regression. S

TR T (O WeR (I Sfenea |

(i) State the properties of regression
coefficients. 5
TR BT TR [ 0

(d) .Write short notes on any two of the
following : 5x2=10

o] R A PR 5 Bt P

() Partial correlation coefficient and
its uses

KA FOTTE S TF IR IS

(i) Sampling distribution and standard
error

&ifSoT 387 wre amifde B

(i) %2 (chi-square) statistic and its
uses

%2 -2ifomefe wIF R IR

(iv) Net reproduction rate and gross
reproduction rate

2FS AT T SF T oA

% %k %k
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